1 e ()l

t I3 JS) 329l palud gsiiall plel (x) dodle gus

$oluw 53x13-53x5+2 (1

X|53x8+2 6 53x8-2

53 % A3 _ 53x5 &
- 53x(A3-5) » L - 53x% L L

Soluw 16 + 4x22 -2 (2

16 +4x 20 X| 102 20x 20

AG Ll _L = ACLTE_% = Aol



$olus 17 x13 -13x 16 (3

X] 13 17 - 16 17x 16

L7543 ZA3xAC = A3x (A7 -1¢)
| , =A3xA - 13

03| [BC] Cuazia | g g3ubYl uyliza Cilio ABC (4

IC=1A (BC) // (AI) (BC) L (Al)

A |
/\ AC:A%)@QMI
A b bass (AT) Ll

B i P
@c)_[_@a?m P ch] 2




2 20 (3 pal

s davows dauiill (9Sa) duwliall EA)l.RJl&.é

235-(100.'.35)= 100 ‘ 7x2+8=22
1837(.27..27)(,83:2700 ‘ 7*(24.8):70
3 e ()4

7 85lgll ¢y SlaolyS 332l s 9 yLips 3 151gll @l b 3u> lf 37 a8 yz
JIHE

§ 930l glall galo

3T % 3._\. 37 « 7 _ 37»«(31-7):37)«\0
| | = 3700



4 2e )4

A(,oahiiEQ(AB)lA'g[AB]J\S)M|h.49.d|95A9AB=Sﬁg)p_u)llbi

EB = 3

N )
T eblg> Jle A'gAJWH,_M;Jl?hla(l

{AB] B 52955 0 g8 B LD .b_\_(AS) L)
" NS s\ b’.\_Q\g))



CJ pazi E gl g @ 3em laled g A lajSye C a1l eyl (2




F3CghiyA Jle s39a2llg E o slall puiizeall gyl (3

(EF) 1 A’ QI O -

EF)LN S, EF)Ls o K bn U

[EF]J s3ganll bgall g A' ol paizu] -0

(€3 sLlba) ae-ar L
.‘PA)& b' ua\g : P\ O " ) b,_‘_(EF))
IL[-EF] ) s> AR~



K g H pazhis § C gl A" (4

BH = BK ol o

ST S A e o 8 L
(Wx]oew A 3 €O b [WK]

S M) LN A s (ML s
Bk &HK]K_) )UULJ\ Loj;,\)



